
Opérations avec deux fractions mixtes (G)

Nom: Date: Note:

Calculez chaque résultat.

1. 512 ÷ 2 519 = ÷ = × = =

2. 518 + 318 = + = = =

3. 512 × 117 = × = = =

4. 118 × 525 = × = =

5. 523 × 1 112 = × = =

6. 512 ÷ 31013 = ÷ = × = =

7. 529 + 159 = + = =

8. 523 − 513 = − =

9. 578 − 512 = − =

10. 534 − 334 = − = = =
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Opérations avec deux fractions mixtes (G) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 512 ÷ 2 519 = 11
2 ÷ 43

19 = 11
2 × 19

43 = 209
86 = 23786

2. 518 + 318 = 41
8 + 25

8 = 66
8 = 33

4 = 814

3. 512 × 117 = 11
2 × 8

7 = 88
14 = 44

7 = 627

4. 118 × 525 = 9
8 ×

27
5 = 243

40 = 6 340

5. 523 × 1 112 = 17
3 × 13

12 = 221
36 = 6 536

6. 512 ÷ 31013 = 11
2 ÷ 49

13 = 11
2 × 13

49 = 143
98 = 14598

7. 529 + 159 = 47
9 + 14

9 = 61
9 = 679

8. 523 − 513 = 17
3 − 16

3 = 1
3

9. 578 − 512 = 47
8 − 11

2 = 3
8

10. 534 − 334 = 23
4 − 15

4 = 8
4 = 2

1 = 2
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